

Print



**Tender Inviting Authority: NHIDCL** 

Name of Work: Repair and Maintenance of National Highway (NH 37) between End of Nagaon Bypass to Rangagara (Km. 278.600 to Km. 297.000) (Percentage Rate and Work Order Basis)

Contract No: NHIDCL/RO-NE/AS/Maint./NH37/2017-18/16

Bidder	
Name :	

## **PRICE SCHEDULE**

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

NUMB ER#	TEXT #	NUMBER #	TEXT #	NUMBER	NUMBER #	TEXT #
SI. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL AMOUNT Without Taxes	TOTAL AMOUNT In Words
1	2	4	5	6	53	55
1	Water Bound Macadam for the pot holes filling Removal of all failed material, trimming of completed excavation to provide firm vertical faces, cleaning of surfaces, backfilling the pot holes with WBM material. (thickness 75 mm in one layer)	525.000	cum	2799.50	1469737.50	INR Fourteen Lakh Sixty Nine Thousand Seven Hundred & Thirty Seven and Paise Fifty Only
2	Prime Coat: Providing and applying primer coat with bitumen emulsion on prepared surface of granular base including cleaning of road surface and spraying primer @ 0.60 kg/sqm using mechanical means.	7000.000	sqm	37.40	261800.00	INR Two Lakh Sixty One Thousand Eight Hundred Only

3	Tack coat:  'Providing and applying tack coat with bitumen emulsion using emulsion pressure distributor at the rate of 0.20 kg per sqm on the prepared bituminous/granular surface cleaned with mechanical broom	91000.000	sqm	12.10	1101100.00	INR Eleven Lakh One Thousand One Hundred Only
4	Bituminous Macadam for pot hole filling Providing and laying dense bituminous macadam (thickness 50mm) with Hot Mix Plant using crushed aggregates of specified grading, premixed with bituminous binder transporting the hot mix to work site, laying with a hydrostatic paver finisher with sensor control to the reqd. grade, lavel and alignment, rolling with smooth wheeled, vibratory and tandem rollers to achieve the desired compaction.	700.000	cum	8453.50	5917450.00	INR Fifty Nine Lakh Seventeen Thousand Four Hundred & Fifty Only

5	Bituminous Macadam for overlay Providing and laying dense bituminous macadam (thickness 50mm) with Hot Mix Plant using crushed aggregates of specified grading, premixed with bituminous binder transporting the hot mix to work site, laying with a hydrostatic paver finisher with sensor control to the reqd. grade, lavel and alignment, rolling with smooth wheeled, vibratory and tandem rollers to achieve the desired compaction.	4200.000	cum	8453.50	35504700.00	INR Three Crore Fifty Five Lakh Four Thousand Seven Hundred Only
6	Semi Dense Bituminous Concrete-25 mm Providing and laying dense bituminous concrete with Hot Mix Plant using crushed aggregates of specified grading, premixed with bituminous binder@ 4.5 to 5 % of mix and filler (cement) transporting the hot mix to work site, laying with a hydrostatic paver finisher with sensor control to the reqd. grade, level and alignment,rolling with smooth wheeled,vibratory and tandem rollers to achieve the desired	2100.0000	cum	11691.90	24552990.00	INR Two Crore Forty Five Lakh Fifty Two Thousand Nine Hundred & Ninety Only

	compaction.					
7	Road Marking: Road marking with Hot Applied Thermoplastic Compound with Reflectorising Glass Beads on Bituminous Surface - Providing and laying of Hot applied thermoplastic compound 2.5mm thick including reflectorising glass beads @250 gms per sqm, thickness of 2.5mm is exclusive of surface applied glass beads as per IRC:35. the finished surface to be level, uniform and free from streaks and holes.	1080.0000	cum	825.00	891000.00	INR Eight Lakh Ninety One Thousand Only
Total in Figure s					69698777 .50	INR Six Crore Ninety Six Lakh Ninety Eight Thousand Seven Hundred & Seventy Seven and Paise Fifty Only
Quoted Rate in Words		INR Six Crore Ninety Six Lakh Ninety Eight Thousand Seven Hundred & Seventy Seven and Paise Fifty Only				